1
It has often been a source of speculation why Shakespeare gave almost half of his plays an Italian background. The solution to this mystery is clear: Shakespeare was Italian rather than English. William Shakespeare’s real name was Michelangelo Crollalanza (which literally translates as shake spear) who was born in Sicily. His parents fled from religious persecution and bought a house called Otello near Venice. Their son travelled through Europe, eventually settling in England. His mother had an English cousin at Stratford who, having settled in this country, had already changed her name to Shakespeare. She had had a son called William, who had died in infancy. Michelangelo took this name over, and never looked back.

Which of the following is the best statement of the main conclusion of the above argument?

A 
The plays ascribed to Shakespeare were written by someone other than William Shakespeare.

B 
Shakespeare gave many of his plays an Italian background in order to show that he was Italian.

C 
The Italian background to Shakespeare s plays was based on authentic knowledge of the country.

D 
The high frequency of an Italian background to Shakespeare s plays is explained by their author being Italian.

E 
If Shakespeare had been English, he would have given more of his plays an English background.

2 
The bestseller lists of books are based on weekly sales through bookshops. As the word suggests, they are supposed to be lists of books that sell better than any others. Indeed, some books sell spectacularly well for a few weeks but then, as their popularity wanes, so too do their sales. Other books, such as many poetry and science books, sell at a quiet but steady rate week after week. At the end of a one or two-year period, these books - which have never featured on any bestseller list - might well have sold as many as, if not more than, some of the books which appeared on such lists.

Which of the following is a conclusion which can be drawn from the above passage?

A 
Poetry and science books do not sell as well as other types of books.

B 
Bestseller lists should include those sales which are not through bookshops.

C 
The use of the term bestseller should not be used for just weekly sales of books.

D 
The bestseller lists of books are not an accurate guide to weekly sales.

E 
Booksellers don’t try to promote those books which sell at a quiet but steady rate week after week.

3
Recent research has shown that a foetus can hear at 30 weeks old. Computer-generated white noise was played to foetuses between 23 and 34 weeks old. Ultrasound scanning did not pick up any response under 30 weeks old, but it did detect heart and movement responses in the 30 to 34-week-olds. This fits with the fact that a baby’s hearing system develops in the 30 to 34 week period but nobody had proof that it worked. Given this new knowledge, we should encourage pre women to play music or read to their unborn babies.

Which of the following is an underlying assumption of the above argument?

A
 Pregnant women are aware of their unborn baby responding to sound.

B 
Heart and movement responses cannot be detected in foetuses under 30 weeks old.

C
 Foetuses over 29 weeks old can distinguish between different types of sound.

D 
Foetuses are particularly responsive to computer-generated white noise.

E 
Hearing sounds such as music is beneficial to a foetus of at least 30 weeks old.

4 
Regular attendance at religious services has been shown to prevent illness, prolong life, and make people happier. The evidence is very clear. Worshippers who attended a service at least once a week live on average seven years longer than those who did not. They are far less likely to suffer strokes and stress. Therefore, regular attendance at a religious service is a means by which we could lead healthier, longer lives.

Which of the following, if true, would most weaken the above argument?

A
People who suffer serious illness often turn to religion for comfort.

B
People who are happy tend to have lower rates of serious illness.

C
People with religious beliefs have low rates of smoking and heavy drinking.

D
Average life expectancy is much higher than it was a hundred years ago.

E
The number of people with religious beliefs has declined in this country.


5 
Because at least 24,000 cyclists are injured in the UK each year, including some fatally, there have been calls to make the wearing of helmets compulsory. Those who argue for compulsion often quote evidence from Australia which showed that deaths and injuries significantly declined - by up to 50 per cent in some areas - following the introduction of compulsion. However, there are other problems that need to be considered. Because some people find helmets uncomfortable (and young people see them as unfashionable), making cyclists wear helmets could lead to many of them giving up cycling. Since cycling is a healthy form of exercise, making cyclists wear helmets will have the opposite effect on the health of the nation than giving them a choice. Thus cyclists should not have to wear helmets.

Which of the following would, if true, most strengthen the argument?

A 
Most cycle accidents, especially fatal accidents, happen in collisions with cars.

B 
The number of people who are killed each year in cars is ten times that of the number of cyclists killed.

C 
Those people who want to take exercise do not all take up cycling.

D 
The risk of head injury for cyclists wearing helmets was three times less than for those not wearing a helmet.

E 
After the introduction of compulsion in Australia, there was a 40 per cent drop in the number of people cycling.

6 
Getting up early will make you ill. It has been discovered that early risers have higher levels of cortisol, the body’s main stress hormone, than those who wake later. They also suffer more muscle aches, cold symptoms, and headaches - and worse moods. In a study of forty-two volunteers who woke between 5.22 a.m. and 10.37 a.m. those who woke before 7.21 am had significantly higher levels of cortisol all day.

What is the best statement of the flaw in the above argument?

A 
Many people have to get up before 7.21 a.m. in order to go to work.

B 
Some of the forty-two volunteers who woke early might have gone to sleep correspondingly early.

C 
Those with higher levels of cortisol might wake earlier than those with lower levels.

D 
Some of those who wake later than 7.21 a.m. might also suffer from muscle aches, cold symptoms, and headaches.

E 
Those with higher levels of cortisol might need more sleep than those with lower levels.

7 
Children who live near Sellafield nuclear power station have a higher than average rate of childhood leukaemia. The explanation has normally been in terms of the effects of radiation from the plant. But the disease could be caused by a virus. It is known that childhood leukaemia is more common in populations with a large influx of newcomers, for example wartime evacuees or the residents of new towns. The population of people living near Sellafield is unusual in that it is very much a shifting one, with many people coming to work there possibly only for a short time, before they are replaced by others. Such shifting populations have a higher risk of this virus because of the unusually high number of contacts within them.

Which is the best statement of the main conclusion of the above argument?

A 
Childhood leukaemia cannot be caused by radiation from nuclear power stations.

B 
Shifting populations have a higher risk of childhood leukaemia than settled ones.

C 
The rate of childhood leukaemia in Sellafield is higher than the national average.

D 
A virus could be the explanation for the higher rate of childhood leukaemia near Sellafield.

E 
Sellafleld has the same rate of childhood leukaemia as wartime evacuees and residents of new towns.
8 
The popularity of organic foods has increased significantly over the past few years because people have accepted the various claims made by organic producers that their products are somehow healthier or better for the environment. But there are not only many problems with these claims, there are also problems with what counts as organic produce. For example, the term organic means different things in different countries. In addition, all sorts of highly poisonous chemicals are allowed to be used by organic farmers. As a result, consumers have no way of knowing what organic means. A proper organic standard would solve many of these problems. For example, how can fruit juice made from water and fruit concentrates be labelled organic when there is no accepted standard for water?

Which one of the following is the best expression of the author’s use of the words organic standard?

A
The measure by which organic products have been judged.

B
The degree of variation of quality amongst organic producers.

C
The term used in Britain to describe organic produce.

D
The limit to the range of chemicals allowed to be used by organic producers.

E
The measure by which all organic products ought to be judged.
9 
Many poor countries continue to have massive unpayable debts to foreign governments and international financial institutions. Progress must be made to cancel this debt as soon as possible. In addition to the problem of poor countries having to pay the debts rather than help their people, companies are deterred from investing money in these countries because of the debts. Economic development is thus restricted. Though part of the blame for the debts lies with debtor countries themselves for problems such as corruption, those countries and organisations which have lent the money have been guilty of lending too freely and imposing unreasonable repayment conditions. Unfortunately, it is the poorest people in the poorest countries who can be blamed the least. And they have suffered the most.

Which of the following is the best statement of the main conclusion of the above argument?

A 
The debts of poor countries should be eliminated as a matter of urgency.

B 
Economic development of poor countries is held back by the continuing debt problem.

C 
The poorest people in the world are those who have suffered the most from the debt problem.

D 
Countries and institutions which have lent money to poor countries should not have lent it so freely.

E 
Unless the debts of poor countries are cancelled, these countries cannot help their people out of poverty.
10 
Caffeine is seen as a stimulant. However, in a recent study, researchers gave people decaffeinated coffee and told them that it contained caffeine. This decaffeinated coffee speeded reaction times just as fast as normal coffee. This clearly shows that people s expectations are the factor which determines the effectiveness of caffeine to wake us up, make us more alert, and so on. It is likely that caffeine does not in itself have any effect upon us.

Which of the following is the best statement of the flaw in the above argument?

A 
The speed of reaction times can vary from individual to individual.

B 
People’s reaction times after taking caffeine need not always be fast.

C 
Caffeine can be found in many drinks other than coffee.

D 
Caffeine could affect us in ways not measured by such factors as alertness.

E 
Many people drink coffee for pleasure rather than to wake them up, make them alert, etc.

11 
Almost two million years ago, ape-like creatures called hominids began to control fire and used it to cook vegetables. In consequence, valuable nutrients were unlocked and the range of foods was increased. The improved diet triggered the changes in physique that led to the emergence of our ancestor, homo erectus. The cooking of vegetables was the main reason for the development of early hominids into modern man. Larger brains were developed, and the strong teeth and powerful jaws characteristic of early hominids disappeared because they were no longer needed for eating raw vegetables. The need to protect vegetables from thieves gave rise to strong family ties, a characteristic of modem human societies.

Which of the following is the best statement of the main conclusion of the above argument? 
A 
Modern human societies are characterised by the need for strong family ties.

B 
The shift from eating vegetables raw to cooking them was highly significant in human development.

C 
Improvements in diet as a result of the cooking of vegetables led to many physical changes in early hominids.

D 
The cooking of vegetables unlocked valuable nutrients and increased the range of foods for early hominids.

E 
The growth of strong family ties developed from the early hominids discovery of the value of cooking vegetables.

12 
No single explanation for the navigational ability of homing pigeons has been found. In one experiment, researchers interfered with the pigeons’ sense of smell, and found that the birds couldn’t find their way home. In another, doing so made no difference. Some pigeons get thoroughly confused in areas where the Earth s magnetic field is disturbed; others are unaffected by such disturbance. Pigeons have a wide range of non-human senses. For example, they can hear deep sounds over huge distances; they can feel small changes in atmospheric pressure; they can detect variations in the Earth s magnetic field. Pigeons can use any of these skills to navigate. Thus, in different situations, pigeons will always be able to use a relevant skill to navigate.

Which of the following is the best statement of the flaw in the above argument?

A 
The navigational ability of pigeons might have more than one explanation.

B 
The experimental evidence on pigeons is unnatural, and therefore of no value.

C 
The experimental evidence on pigeons’ abilities does not show that pigeons can always navigate.

D 
The author gives no more than examples of pigeons’ non-human senses.

E 
The evidence on pigeons fails to take account of abilities that have yet to be discovered.

13 
Water makes up seventy-five per cent of an adults body, and the brain’s 15 billion brain cells are about eighty per cent water. Without adequate water (at least eight glasses daily) we cannot therefore keep healthy. But water from our taps contains about 800 chemicals such as those from pesticides or weedkillers used on farms. Many people filter their tap water in order to get pure water but, though filters take out the worst of the bacterial contaminants, they fail to remove other harmful substances such as aluminium, lead, and arsenic. Furthermore, filters can provide a haven for bacteria. Pure water can be obtained only by distilling it. Such a process will remove not only bacterial contamination, but also all impurities such as nitrates and minerals.

Which of the following is a conclusion that can be drawn from the above passage?

A 
People should cut down on their consumption of tap water.

B 
There is little difference between tap water and filtered water.

C 
Most of us drink too little water each day to maintain good health.

D 
Drinking distilled water is the only way to keep our bodies healthy.

E 
For the sake of our health, we should drink at least eight glasses of distilled water daily.

14 
Reflexology is a complementary therapy based on the belief that certain points on the soles of our feet are linked to specific parts of the body, and that applying pressure to the appropriate parts will improve medical conditions. However, a study has shown that, in diagnosing patients’ conditions, reflexologists got so many diagnoses wrong that they did less well than the toss of a coin. This was despite the fact that the patients in the study suffered from conditions - such as neck and back pain, migraine, and diabetes - that reflexologists claim are the easiest to identify. It is obvious from this study that reflexology should not be used in medical care.

Which of the following, if true, would most weaken the above argument?

A 
Reflexology can relieve stress and anxiety in the seriously ill.

B 
Not all reflexologists use the same methods in treating patients.

C 
There are some conditions which conventional medicine finds difficult to diagnose.

D 
Reflexology is one of the most popular of the complementary therapies.

E 
Not all medical conditions can be treated by conventional medicine. [

15 
A parrot called Alex has been stretching the definition of animal intelligence. Many parrots can talk, but Alex is different. He can recognise fifty different objects, distinguish numbers, colours, and shapes. He can also understand concepts such as bigger, smaller, same, and different. This puts him in a category which before had been occupied only by dolphins and chimpanzees. In various studies, chimps have, like Alex, been taught to use a wide range of words. But there are many problems in arguing that Alex and the chimps (and dolphins) have joined humans in their capacity to use language. Thus, though Alex should certainly make us be prepared to change our view of animal intelligence, we should not yet think of animals as using language.

Which of the following is an underlying assumption of the above argument?

A 
An animal’s understanding of concepts is necessary for an appropriate use of words.

B 
Apart from humans, only chimps, dolphins, and parrots have the capacity to use words.

C 
Parrots, chimps, and dolphins use language in a non-human way.

D 
Having the ability to talk is not equivalent to having the ability to use words.

E 
The ability to use words is not equivalent to having the ability to use language.
16 
Many people want to make sure that the money they invest is put into what are called ethical funds. Such funds include environmentally-friendly funds such as those used to pay for wind- powered electricity generators. However, a big manufacturer of such generators is part of a company which is one of the world s biggest arms manufacturers. Also, the largest operators of wind generators are the same power businesses that pollute the atmosphere burning fossil fuels. Furthermore, people who live near to wind-powered generating stations complain of the permanent drone emitted by the machines. In consequence, it can be seen that those people who think they are investing ethically are doing nothing of the sort. Their investment funds are as unethical as any others.

Which of the following is the best statement of the flaw in the above argument?

A 
It fails to explain how many people invest their money in ethical funds.

B 
It draws a general conclusion on ethical investment from only one example of it.

C 
It attacks those people who invest in ethical funds rather than the funds themselves.

D 
It fails to acknowledge that wind-powered electricity generators are environmentally- friendly.

E 
It provides a definition of what is meant by ‘ethical funds’ and then rejects it.
